5>

)

N
s
3t

(7%
1)
4
4
A
1
0]
-
DA i
e
&8s
i
)

=,
/WH& E
5T~ /L%._\‘_
| s
fird H 18



FIE AEXH F2E EIHAR

FIE HEHZE FET EEHZ

gz [FHEAR ez [BIERR

&7 BERE "man 27 BERE "man

(%) (%)

Bl= EfhEERED — — 8 R B A 53,800 55%

B2 F E AR 51,000 60% EEMEREE 39,100 55%

Bl=HEm 44,000 55% ERES 29,100] 55%
£ Eh# 34,300 60%
HA=BF 32,200 55%
BEMFHME 27,000 60%
Bt 53,600 65%
BEL 40,400 60%
i 41,600 60%
BT 33,800 60%
Bl=hiEHtt 33,500 55%
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FEEMNE 74,900]  55%
HE - BEE 70,900]  55%
FEHED 62,200] 55%
BEm (A 55,200]  55%
HEm (B) 45300/ 55%
BEm (C) 35,600] 55%
Bitig 31,600 55%




